<SPLAY

S \
&
Kl

TOT TOWN SMALL SAND BOX

902-832

PART
ITEM NO. NUMBER DESCRIPTION QTY.
1 904-910 Sides for Small Sandbox 2
2 904-911 Entry End Board 1
3 904-912 End Board 1
4 904-914 Seat 2
5 000-000 Seat Leg 2
6 905-803 Corner Bracket 12
7 116-529 5/16" x 3/4" Button Head Bolt 16
8 216-512 5/16" x 1" Button Head Nut 16
9 316-501 5/16" Flat Washer 16
10 316-601 3/8" Flat Washer 24




